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QUESTION NO: 1

Which statement explains the setting of the cost tolerance for a project in an agile context?

A. Cost tolerance is flexed

B. Cost tolerance can be fixed or flexed

C. Cost tolerance can be fixed and flexed

D. Cost tolerance is fixed

ANSWER: A 

QUESTION NO: 2

What is typically added to a user story as the understanding of the requirement evolves?

A. An epic

B. Acceptance criteria

C. Definition of ‘ready’

D. Effort actually expended

ANSWER: B 

QUESTION NO: 3

Why are team working agreement produced?

A. To create structure so that the team manager can assess individual performance

B. To evolve the effectiveness and behaviors of the self-organizing team by agreeing values

C. To make the team rules visible to the project manager for monitoring purposes

D. To ensure that the delivery team members comply with company policy

ANSWER: B 
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Explanation:

Reference https://publications.axelos.com/prince2agile2016/content.aspx?page=pra_126&showNav=true&expandNav=tru

QUESTION NO: 4

Which statement about the PRINCE2 Agile behaviour ‘collaboration’ is CORRECT?

A. It allows many small learnings to accumulate over time

B. It allows the delivery team to decide how best to get the job done

C. It creates a shared ownership of goals

D. It uses the most effective channel to communicate

ANSWER: C 

QUESTION NO: 5

Which well-known agile method uses visualization, and controls work in progress?

A. Scrum

B. Lean Startup

C. Lean

D. Kanban

ANSWER: D 

QUESTION NO: 6

Which BEST describes the senior user role when tailoring the organization theme?

A. An ‘agile sponsor’

B. An ‘executive sponsor’

C. A ‘coach’

D. A ‘super product owner’
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ANSWER: D 

QUESTION NO: 7

What BEST defines embryonic customer requirements?

A. ‘Fine-grained’ user stories

B. Epics

C. Sub-products

D. Technical stories

ANSWER: B 

QUESTION NO: 8

Which statement is CORRECT with respect to the management of risk using PRINCE2 Agile?

A. It should always be appropriate to the needs of the project

B. It should always be addressed during the daily stand-ups

C. It should always be carried out formally

D. It should always be carried out informally

ANSWER: A 

QUESTION NO: 9

Which TWO statements about the supplier subject matter expert are CORRECT?

1) They provide a wider picture of the customer view.

2) They prioritize requirements at the detailed level.

3) They should be focused on the customer.

4) They ensure that the work is compliant with project standards.

A. 1 and 2

B. 2 and 3

C. 3 and 4
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D. 1 and 4

ANSWER: C 

QUESTION NO: 10

Which is an advantage of frequent releases?

A. Releases can be used to replace management stages

B. A ‘one-team’ culture in the project team is encouraged

C. Configuration management becomes less important

D. The delivery team becomes more experienced at product handover

ANSWER: D 
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